

$$\begin{aligned}\overrightarrow{\Gamma\Delta} \cdot \overrightarrow{BE} &= (\overrightarrow{\Gamma A} + \overrightarrow{A\Delta}) \cdot (\overrightarrow{BA} + \overrightarrow{AE}) = \\ &= \overrightarrow{\Gamma A} \cdot \overrightarrow{BA} + \overrightarrow{\Gamma A} \cdot \overrightarrow{AE} + \overrightarrow{A\Delta} \cdot \overrightarrow{BA} + \overrightarrow{A\Delta} \cdot \overrightarrow{AE} \quad \begin{matrix} \overrightarrow{\Gamma A} \perp \overrightarrow{AE} \Rightarrow \overrightarrow{\Gamma A} \cdot \overrightarrow{AE} = 0 \\ \overrightarrow{A\Delta} \perp \overrightarrow{BA} \Rightarrow \overrightarrow{A\Delta} \cdot \overrightarrow{BA} = 0 \end{matrix} \\ &= \overrightarrow{\Gamma A} \cdot \overrightarrow{BA} + \overrightarrow{A\Delta} \cdot \overrightarrow{AE} = \\ &= |\overrightarrow{\Gamma A}| \cdot |\overrightarrow{BA}| \cos(\overrightarrow{\Gamma A}, \overrightarrow{BA}) + |\overrightarrow{A\Delta}| \cdot |\overrightarrow{AE}| \cos(\overrightarrow{A\Delta}, \overrightarrow{AE}) = \\ &= \left(\overrightarrow{\Gamma A}, \overrightarrow{BA} \right) = \left(\overrightarrow{A\Gamma}, \overrightarrow{AB} \right) \\ &= \left(\overrightarrow{A\Delta}, \overrightarrow{AE} \right) = 180^\circ - \left(\overrightarrow{AB}, \overrightarrow{A\Gamma} \right) \Rightarrow \cos(\overrightarrow{A\Delta}, \overrightarrow{AE}) = \cos \left[180^\circ - \left(\overrightarrow{AB}, \overrightarrow{A\Gamma} \right) \right] \Rightarrow \cos(\overrightarrow{A\Delta}, \overrightarrow{AE}) = -\cos(\overrightarrow{AB}, \overrightarrow{A\Gamma}) \\ & \quad \left| \overrightarrow{A\Delta} \right| = \left| \overrightarrow{\Gamma A} \right| \quad \text{και} \quad \left| \overrightarrow{AE} \right| = \left| \overrightarrow{BA} \right| \\ &= 0.\end{aligned}$$

Οπότε $\overrightarrow{\Gamma\Delta} \cdot \overrightarrow{BE} = 0 \Rightarrow \Gamma\Delta \perp BE$

$$\begin{aligned}\overrightarrow{\Delta E} \cdot \overrightarrow{B\Gamma} &= (\overrightarrow{\Delta B} + \overrightarrow{BE}) \cdot \overrightarrow{B\Gamma} = \overrightarrow{\Delta B} \cdot \overrightarrow{B\Gamma} + \overrightarrow{BE} \cdot \overrightarrow{B\Gamma} = \\ &= |\overrightarrow{\Delta B}| \cdot |\overrightarrow{B\Gamma}| \cos(\overrightarrow{\Delta B}, \overrightarrow{B\Gamma}) + |\overrightarrow{BE}| \cdot |\overrightarrow{B\Gamma}| \cos(\overrightarrow{BE}, \overrightarrow{B\Gamma}) = \\ &= \frac{2}{3} |\overrightarrow{AB}| \cdot |\overrightarrow{AB}| \cos 120^\circ + \frac{1}{3} |\overrightarrow{AB}| \cdot |\overrightarrow{AB}| \cos 0^\circ = \\ &= \frac{2}{3} |\overrightarrow{AB}|^2 \cdot \left(-\frac{1}{2} \right) + \frac{1}{3} |\overrightarrow{AB}|^2 = 0\end{aligned}$$

Οπότε $\overrightarrow{\Delta E} \cdot \overrightarrow{B\Gamma} = 0 \Leftrightarrow \overrightarrow{\Delta E} \perp \overrightarrow{B\Gamma}$

$$\begin{aligned}\overrightarrow{KN} \cdot \overrightarrow{NM} &= (\overrightarrow{KA} + \overrightarrow{AN}) \cdot (\overrightarrow{ND} + \overrightarrow{DM}) = \overrightarrow{\Delta B} \cdot \overrightarrow{B\Gamma} + \overrightarrow{BE} \cdot \overrightarrow{B\Gamma} = \\ &= \overrightarrow{KA} \cdot \overrightarrow{ND} + \overrightarrow{KA} \cdot \overrightarrow{DM} + \overrightarrow{AN} \cdot \overrightarrow{ND} + \overrightarrow{AN} \cdot \overrightarrow{DM} = \\ &= \frac{\overrightarrow{KA} \perp \overrightarrow{ND}}{\overrightarrow{AN} \perp \overrightarrow{DM}} = 0 + |\overrightarrow{KA}| \cdot |\overrightarrow{DM}| \cos(\overrightarrow{KA}, \overrightarrow{DM}) + |\overrightarrow{AN}| \cdot |\overrightarrow{ND}| \cos(\overrightarrow{AN}, \overrightarrow{DM}) + 0 = \\ &= |\overrightarrow{KA}| \cdot |\overrightarrow{DM}| \cos 120^\circ + |\overrightarrow{AN}| \cdot |\overrightarrow{ND}| \cos 0^\circ = \\ &= -|\overrightarrow{KA}| \cdot |\overrightarrow{DM}| + |\overrightarrow{AN}| \cdot |\overrightarrow{ND}| = 0 \quad \text{αφού} \quad KA = ND \quad \text{και} \quad DM = AN\end{aligned}$$

Οπότε $\overrightarrow{KN} \cdot \overrightarrow{NM} = 0 \Rightarrow \overrightarrow{KN} \perp \overrightarrow{NM}$

α) $\overrightarrow{AE} \cdot \overrightarrow{\Delta Z} = (\overrightarrow{AB} + \overrightarrow{BE}) \cdot (\overrightarrow{\Delta A} + \overrightarrow{AZ}) = \overrightarrow{AB} \cdot \overrightarrow{\Delta A} + \overrightarrow{AB} \cdot \overrightarrow{AZ} + \overrightarrow{BE} \cdot \overrightarrow{\Delta A} + \overrightarrow{BE} \cdot \overrightarrow{AZ} =$

$$\begin{aligned}&= \frac{\overrightarrow{AB} \perp \overrightarrow{\Delta A}}{\overrightarrow{BE} \perp \overrightarrow{AZ}} = 0 + |\overrightarrow{AB}| \cdot |\overrightarrow{AZ}| \cos 180^\circ + |\overrightarrow{BE}| \cdot |\overrightarrow{\Delta A}| \cos 0^\circ \stackrel{\overrightarrow{\Delta A} = \overrightarrow{AB}}{\overrightarrow{AZ} = \overrightarrow{BE}} = |\overrightarrow{AB}| \cdot |\overrightarrow{AZ}| \cdot (-1) + |\overrightarrow{AB}| \cdot |\overrightarrow{AZ}| = 0\end{aligned}$$

Οπότε $\overrightarrow{AE} \cdot \overrightarrow{\Delta Z} = 0 \Rightarrow \overrightarrow{AE} \perp \overrightarrow{\Delta Z}$

$$\begin{aligned}
\text{β)} \quad \overrightarrow{Z\Gamma} \cdot \overrightarrow{E\Delta} &= (\overrightarrow{Z\Lambda} + \overrightarrow{A\Delta} + \overrightarrow{\Delta\Gamma}) (\overrightarrow{E\Gamma} + \overrightarrow{B\Lambda} + \overrightarrow{A\Delta}) = \\
&= \overrightarrow{Z\Lambda} \cdot \overrightarrow{E\Gamma} + \overrightarrow{Z\Lambda} \cdot \overrightarrow{B\Lambda} + \overrightarrow{Z\Lambda} \cdot \overrightarrow{A\Delta} + \overrightarrow{A\Delta} \cdot \overrightarrow{E\Gamma} + \overrightarrow{A\Delta} \cdot \overrightarrow{B\Lambda} + \\
&+ \overrightarrow{A\Delta} \cdot \overrightarrow{A\Delta} + \overrightarrow{\Delta\Gamma} \cdot \overrightarrow{E\Gamma} + \overrightarrow{\Delta\Gamma} \cdot \overrightarrow{B\Lambda} + \overrightarrow{\Delta\Gamma} \cdot \overrightarrow{A\Delta} = \\
&0 + |\overrightarrow{Z\Lambda}| \cdot |\overrightarrow{B\Lambda}| \cdot \cos \nu + (\overrightarrow{Z\Lambda} \wedge \overrightarrow{B\Lambda}) + 0 + |\overrightarrow{A\Delta}| \cdot |\overrightarrow{E\Gamma}| \cos \nu + (\overrightarrow{A\Delta} \wedge \overrightarrow{E\Gamma}) + 0 + \\
&+ |\overrightarrow{A\Delta}|^2 + 0 + |\overrightarrow{\Delta\Gamma}| \cdot |\overrightarrow{B\Lambda}| \cos \nu + (\overrightarrow{\Delta\Gamma} \wedge \overrightarrow{B\Lambda}) + 0 =
\end{aligned}$$

$$\begin{aligned}
&\frac{|\overrightarrow{Z\Lambda}|}{|\overrightarrow{\Delta\Gamma}|} = \frac{|\overrightarrow{A\Delta}|}{|\overrightarrow{E\Gamma}|} = \frac{|\overrightarrow{AB}|}{|\overrightarrow{AB}|} = |\overrightarrow{AB}|^2 + |\overrightarrow{A\Delta}|^2 + |\overrightarrow{A\Delta}|^2 - |\overrightarrow{AB}|^2 = 0
\end{aligned}$$

$$\text{Οπότε} \quad \overrightarrow{Z\Gamma} \cdot \overrightarrow{E\Delta} = 0 \Rightarrow \overrightarrow{Z\Gamma} \perp \overrightarrow{E\Delta}$$